d?y,

d T2 ¢1y1y2 - O
d?y
dez _¢2y1y2 =0
Z :0 %:%:
dz dz
z=1 y,=1; y,=05
Unknowns
Uq
U,
Y1
Un1-1
Un1
Uni+1
Uni+2
Y2
Uoni-1
Uoni

Residual Equations

P2 q R(1)=2D(1, j)u(i)

ML RO=20005) V() au ) Ul

I =N1-1

i=N1 R(Nl)—U(Nl) 1

= N1+1 | R(N1+1)= ZDlj (N1+ j)

i = N1+2
BVP2 - R(N1+i):§DD(i,j) U(N1+j)-aU(i) U(N1+i)
i = 2N1- -
1

i=2N1 | R(2N1)=U(2N1)-0.5




Residual Equations

N1

RO)-= 300 ) U(j)

R(N1)=U(N1)-1

R(N1+1)= iD(l, j) U(NL+ j)

R(N1+i):iDD(i, j)UN1+j)-g,U(i) U(NL+i)

R(2N1)=U(2N1)-0.5

Jacobian Matrix

J(@ j)=D( j)

3(i, j)=DD(i, j)- ¢, U(N1+i) 5,
I(i, N1+ j)=— ¢ U(i) 5,

J(NL j) =6y

J(N1+1,N1+ j)=D( j)
J(N1+i,N1+ j)=DD(i, j)- 4, U(i) &,,

J(NL+i,j)=— 4, U(N1+i) 5,

J(2NL N1+ j)=6y,,

i =N1

I =N1+1

N1+2<i<2N1l-1

1 =2N1



